
OBJECTIVE PART(MCQs)
Question No.1 : In Roman numbers, 12 is written as:
(a) XI (b) XII (c) XIII (d) XIV

Question No.2 : Identify the odd number:
(a) 12 (b) 14 (c) 16 (d) 19

Question No.3 : The missing number on the number line is:

(a) 45 (b) 50 (c) 55 (d) 57

Question No.4 : The ascending order of numbers 219, 143, 187 and
259 is:
(a) (b) 

(c) (d) 

Question No.5 : Areeba has Rs.   and Aslam has Rs.  . The
total amount of money they have:

(a) Rs 7899 (b) Rs 8979 (c) Rs 9789 (d) Rs 9978

Question No.6 : A book has 1535 pages in all. Zarina has read 424
pages. The number of pages left to read is:

(a) 1109 (b) 1110 (c) 1111 (d) 1112

Question No.7 : If Aryan spends Rs 10 in one day, then how much
money does he spend in 7 days?
(a) Rs 80 (b) Rs 70 (c) Rs 65 (d) Rs 75

Question No.8 : The solution of   is:

(a) 62 (b) 72 (c) 82 (d) 92

Question No.9 : If the cost of 5 toys is Rs 30, then the cost of one
toy will be:
(a) Rs 3 (b) Rs 4 (c) Rs 5 (d) Rs 6

Question No.10 : The proper fraction is:

(a) (b) (c) (d) 

Question No.11 : The fraction of coloured part of the given
figure is:

(a) (b) (c) (d) 

Question No.12 : The solution  of is:

(a) (b) (c) (d) 

Question No.13 : The solution of   is:

(a) (b) (c) (d) 

Question No.14 : The appropriate unit to measure the distance
from Karachi to Lahore is:
(a) Kilometre (b) Metre (c) Centimetre (d) Millimetre

Question No.15 : Ayesha has 19m 46cm long wire. She cuts 6m
15cm wire from it. The length of the remaining wire is:
(a) 13m 11cm (b) 13m 21cm

(c) 13m 31cm (d) 13m 41cm

Question No.16 : Ali has 39 kg 500 g of flour and 50 kg 200 g of
sugar. The total mass he has:
(a) 89Kg 700g (b) 89kg 300g

(c) 20Kg 700g (d) 20Kg 300g

Question No.17 : The solution of 26 kg 44 g  53 kg 33 g is:
(a) 79 kg 66 g (b) 79 kg 77 g

(c) 79 kg 88 g (d) 79 kg 99 g

Question No.18 : The solution of 8   627 m  - 6   425 m  is:
(a) 2   202 m (b) 2   302 m

(c) 1   202 m (d) 1   302 m

Question No.19 : The solution of 35h 12h is:

(a) 37 h (b) 47 h  (c) 38 h  (d) 48 h

Question No.20 : The time on the given clock is:

(a) 03:40 (b) 08:03 (c) 08:15 (d) 12:50

Question No.21 : A train takes 12 hours to travel from Quetta to
Sukkur and 9 hours to travel from Sukkur to Multan. The total
travel time from Quetta to Multan is:
(a)  h (b)  h (c)  h (d)  h

Question No.22 : Identify the given figure:

(a) Line (b) Line Segment (c) Ray (d) Point
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Question No.23 : The number of lines of symmetry in the given
figure is:

(a) 1 (b) 2 (c) 3 (d) 4

Question No.24 : The number of edges of the given figure is:

(a) 5 (b) 6 (c) 7 (d) 8

Question No.25 : The value of the given tally mark is:

(a) 8 (b) 11 (c) 10 (d) 9

SUBJECTIVE PART(CRQs)

a )  Write the number  in words. (5 Marks)

b ) Write the numbers   in ascending and descending order. (5 marks)

a ) Total numbers of men and women in a village are7693. If the number of women is 5412 then find the number of men. (5 marks)

b ) If the price of 1 books is Rs 45 then find the price of 8 such books. (5 marks)

a ) Adnan and Ali bought a chocolate in which Adnan ate  part of the chocolate  and Ali ate  part  of the chocolate. How much chocolate
did they eat altogether? (5 marks)

b ) Ahmad bought 47 kg 500 g flour. He used 35 kg 200 g from it. Find the remaining flour.  ( 5 Marks)

a )  In a house 22 litres Canola oil and 35 litres of Soyabean oil is used. How many litres of oil is used in total ? (5marks)

b ) Sami can build a wall in 10 hours, while Umer can build the same wall in 6 hours. How much more time does Sami take to build the wall?
(5 marks)

a ) The length of a rectangle is 210 cm and its width is 120 cm. Find its perimeter. ( 5 marks)

b ) The following Tally chart shows the favourite fruits of different students. Observe the tally chart and answer the following questions. (5
Marks)

1. Which is the most favourite fruit?
2. How many students like cherry?
3. What is total number of students who like pineapple and grapes?

Question No: 26

36520

512, 321, 445, 241, 114

Question No: 27

Question No: 28
5
9

3
9

Question No: 29

Question No: 30




